Problem A


Lollipops


 


Input: LOL.IN


Output: LOL.OUT


Executable: LOL.EXE


 


Description: A sweets company produces every day N lollipops which must be packed into B boxes, each box containing L lollipops. The production cycle lasts D days and satisfies the following criteria:


- the production parammeters N, B (B>1) and L are the same for the entire production cycle


- the lollipops produced in one day have different covers (packings).


- there are exactly N types of covers used during the entire production cycle


- at the end of one production cycle, for each pair of covers there must be a unique box which contains two lollipops that have those two covers; the other lollipops have different covers


 


For example, if there are 9 lollipops produced every day, the production cycle lasts 4 days, then the company may use 3 boxes containing 3 lollipops every day. The 9 cover types may be used as described below:


 


	    Box #1 Box #2 Box #3


Day #1:  123     468     579


Day #2:  145     278     369


Day #3:  167     249     358


Day #4:  189     256     347


 


Write a program which, for a given number N, determines the value L such that the value D-B is minimum. If there are more solutions you must choose the one for which the value L is maximum.


 


Input data: The input file contains a single integer number N (2<=N<=2.000.000.000) representing the number of lollipops produced every day.





Output data: The output file will contain, on a single line, three integer numbers, separated by a single blank character, representing the values L, B and D. If there is no solution the output file will contain 0 0 0.





Example:


LOL.IN


300000


LOL.OUT


120 2500 2521


